

AIMS Mathematics, 8(8): 26070–26080. DOI:10.3934/math.20231328 Received: 02 January 2023 Revised: 28 April 2023 Accepted: 07 May 2023 Published: 11 September 2023

http://www.aimspress.com/journal/Math

Research article

Homotopic morphisms between weighted digraphs

Chong Wang*

Department of Mathematics and Statistics, Cangzhou Normal University, 061000, China

* Correspondence: Email: wangchong_618@126.com.

Abstract: In this paper, we consider weighted digraphs and prove that homotopic morphisms between weighted digraphs induce the identical homomorphisms on weighted path homology groups with field coefficients.

Keywords: weighted digraph; weighted path homology; cartesian product; one-step homotopic **Mathematics Subject Classification:** 05C20, 55P10

1. Introduction

Digraph is an important topology model of complex networks. For example, taking Alipay users as the vertices, we determine the directed edges by the relationship of paying, so the complex network composed by Alipay users can be regarded as a digraph.

In 2012, A. Grigor'yan, Y. Lin, Y. Muranov and S.T. Yau first defined and studied the path homology of digraphs [1]. Subsequently, there are many references about path (co)homology of digraphs [2–6] and meanwhile homotopy of digraphs is developed [7, 8].

Weighted structure can provide more information about mathematical objects. We can take the degree of each vertex in the digraph as the vertex weight. In the actual complex network, the weight of nodes shows the importance of nodes in the entire digraph. For example, if we regard the urban traffic network of a country as a digraph, the communication between each city and other cities reflects the importance of its traffic hub to some extent.

In this paper, we mainly consider homotopy invariance of weighted digraphs in Theorem 3.1 based on the definitions in [9].

2. Preliminaries

In this section, we review some relative definitions of path homology of vertex-weighted digraphs in [9], and similar to [7], we give the notion of homotopy of morphisms between vertex-weighted

digraphs. Let *R* be an integral domain with unit 1.

2.1. Weighted path homology and morphisms between weighted digraphs

A digraph *G* is a pair determined by a finite set *V* and an ordered binary subset *E* of $V \times V$ where *V* is called the vertex set of *G* and *E* is called the directed edge set of *G*. For each $n \ge 0$, an *elementary n*-*path* (abbreviated as *n*-path) on *V* is a sequence $v_0v_1 \cdots v_n$ of vertices in *V*. If all pairs $(v_i, v_{i+1}) \in E$ where v_i and v_{i+1} are assumed to be distinct for each $0 \le i \le n - 1$, then the *n*-path is called *allowed*. Let $\Lambda_n(V)$ be the free *R*-module consisting of all the formal linear combinations of the *n*-paths on *V*. Let $\mathcal{A}_n(G)$ be the free *R*-module consisting of all the formal linear combinations of allowed elementary *n*-paths on *G*. Then $\mathcal{A}_n(G)$ is a sub-*R*-module of $\Lambda_n(V)$.

A weighted digraph is a digraph G with an R-valued weight function $w : V \longrightarrow R$, which is simply denoted as G if there is no danger of confusion. The weighted boundary map $\partial_n^w : \Lambda_n(V) \longrightarrow \Lambda_{n-1}(V)$ is defined as

$$\partial_n^w(v_0v_1...v_n) = \sum_{i=0}^n w(v_i)(-1)^i d_i(v_0v_1...v_n)$$

where d_i is the face map given by

$$d_i(v_0v_1\ldots v_n)=v_0v_1\ldots \hat{v}_i\ldots v_n.$$

Note that ∂_n^w is an *R*-linear map from $\Lambda_n(V)$ to $\Lambda_{n-1}(V)$ satisfying $\partial_n^w \partial_{n+1}^w = 0$ for each $n \ge 0$ (cf. [1–6]). Hence $\{\Lambda_n(V), \partial_n^w\}_{n\ge 0}$ is a chain complex. We define

$$\Omega_n^w(G) = \mathcal{A}_n(G) \cap (\partial_n^w)^{-1} \mathcal{A}_{n-1}(G),$$

$$\Gamma_n^w(G) = \mathcal{A}_n(G) + \partial_{n+1}^w \mathcal{A}_{n+1}(G).$$

Then as graded *R*-modules,

$$\Omega^w_*(G) \subseteq \mathcal{A}_*(G) \subseteq \Gamma^w_*(G) \subseteq \Lambda_*(V).$$

And as chain complexes,

$$\{\Omega_n^w(G),\partial_n^w\mid_{\Omega_n^w(G)}\}_{n\geq 0}\subseteq\{\Gamma_n^w(G),\partial_n^w\mid_{\Gamma_n^w(G)}\}_{n\geq 0}\subseteq\{\Lambda_n(V),\partial_n^w\}_{n\geq 0}.$$

By [10], the canonical inclusion

$$\iota: \Omega_n^w(G) \longrightarrow \Gamma_n^w(G), \quad n \ge 0$$

of chain complexes induces an isomorphism between the homology groups

$$\iota_*: H_m(\{\Omega_n^w(G), \partial_n^w \mid_{\Omega_n^w(G)}\}_{n \ge 0}) \xrightarrow{\cong} H_m(\{\Gamma_n^w(G), \partial_n^w \mid_{\Gamma_n^w(G)}\}_{n \ge 0}), \quad m \ge 0.$$

This isomorphism gives the weighted path homology of G, denoted as $H_m(G, w; R), m \ge 0$.

Remark 2.1. When all weights are 1, the weighted path homology is the usual path homology.

AIMS Mathematics

Definition 2.1. (cf. [7, Definition 2.2]) A *morphism* from a digraph G to a digraph G' is a map f: $V(G) \longrightarrow V(G')$ such that for any directed edge $u \rightarrow v$ on G we have $f(u) \stackrel{?}{=} f(v)$ on G' (that is, either $f(u) \rightarrow f(v)$ or f(u) = f(v)). We will refer to such morphisms also as digraphs maps (sometimes simply maps) and denote them shortly by $f: G \longrightarrow G'$.

Let G = (V, E, w) and G' = (V', E', w') be two weighted digraphs. A weighted morphism of weighted digraphs from (G, w) to (G', w') is a morphism of digraphs $f : G \to G'$ such that for any $v_i \in V$, $w(v_i) = w'(f(v_i))$.

2.2. Weighted homotopy

A line digraph I_n is a digraph with the vertex set $\{v_0, v_1, \ldots, v_n\}$ and the directed edge set $\{v_i \rightarrow v_{i+1} \text{ or } v_{i+1} \rightarrow v_i, i = 0, 1, \ldots, n-1\}$ (cf. [7, p. 632]). Note that a path is a special line digraph with all the directed edges $v_i \rightarrow v_{i+1}$. For $0 \le i \le n$, we sometimes write v_i as *i* for short.

The *Cartesian product* of vertex-weighted digraph G and line digraph I_1 is a vertex-weighted digraph $G \times I_1$ such that

$$V_{G \times I_1} = \{(v, 0) \text{ and } (v, 1), v \in V(G)\} \text{ and }$$

$$E_{G \times I_1} = \{(v, 0) \to (v, 1) \text{ or } (v, 0) \to (u, 0) \text{ or } (v, 1) \to (u, 1) \mid (v, u) \in E(G)\}, \text{ with }$$

$$w_{G \times I_1} : V_{G \times I_1} \to R \text{ such that } w_{G \times I_1}(v, 0) = w_{G \times I_1}(v, 1) = w(v).$$

Here I_1 is the digraph $I_1 = (0 \rightarrow 1)$ (the case $I_1^- = (1 \rightarrow 0)$ is similar).

Let $f, g: (G, w) \to (G', w')$ be two morphisms of weighted digraphs (G, w) and (G', w'). Then f, g are called *one-step homotopic* if there exists a digraph map

$$F: G \times I_1 \to G'$$

such that

$$F |_{G \times \{0\}} = f \text{ and } F |_{G \times \{1\}} = g$$

$$w_{G \times I_1}(v, 0) = w'(F(v, 0)) = w'(f(v))$$

$$w_{G \times I_1}(v, 1) = w'(F(v, 1)) = w'(g(v)).$$

For simplicity, we denote (v, 0) as v and (v, 1) as v' respectively in this paper. Let $R = \mathbb{F}$ be a field. Consider the case in which the weight is a non-vanishing function on the vertex set of G. For any element $x = \sum_{i=1}^{n} a^{i} \sigma^{i} \in \Omega_{p}(G, w)$ where $\sigma^{i} = v_{0}^{i} \cdots v_{j}^{i} \cdots v_{p}^{i} \in \mathcal{A}_{p}$. Define

$$x \times I_{1} = \sum_{i=1}^{n} a^{i} \sum_{m=0}^{p} (-1)^{p-m} (w(v_{m}^{i}))^{-1} v_{0}^{i} \cdots v_{m}^{i} (v_{m}^{i})' (v_{m+1}^{i})' \cdots (v_{p}^{i})'$$

$$x \times \{1\} = \sum_{i=1}^{n} a^{i} (v_{0}^{i})' \dots (v_{p}^{i})' \dots (v_{p}^{i})', \quad x \times \{0\} = \sum_{i=1}^{n} a^{i} v_{0}^{i} \dots v_{p}^{i} \dots v_{p}^{i}$$
(2.1)

where $w(v_m^i)$ is the weight of vertex v_m^i or $(v_m^i)'$, $a^i \in \mathbb{F}$.

AIMS Mathematics

3. Main theorem

In this section, we will give some auxiliary results for main theorem in this paper and prove the main theorem.

Let \mathbb{F} be a field. Firstly, by the definition (2.1), we can prove the following proposition.

Proposition 3.1. Let (G, w) be a vertex-weighted digraph where $w : V(G) \longrightarrow \mathbb{F} \setminus \{0\}$ is a weight function on G. Then for any $x \in \Omega_p^w(G)$, $x \times I_1 \in \Omega_{p+1}^w(G \times I_1)$.

Proof. Suppose $x = \sum_{i=1}^{n} a^{i} \sigma^{i} \in \Omega_{p}^{w}(G)$ where $\sigma^{i} = v_{0}^{i} \cdots v_{p}^{i}$ are allowed elementary *p*-paths on *G*. Denote

$$\sigma_m^i = v_0^i \cdots v_m^i (v_m^i)' (v_{m+1}^i)' \cdots (v_p^i)'.$$

According to the action of weighted boundary operator ∂^w , it is sufficient to consider the following cases.

CASE 1. j = m. If m = 0, then

$$d_j(\sigma_m^i) = d_0(\sigma_0^i) = (v_0^i)'(v_1^i)' \cdots (v_p^i)' \in \mathcal{A}_p(G \times I_1);$$

If $m \ge 1$, then for each

$$d_j(\sigma_m^i) = v_0^i \cdots v_{m-1}^i (v_m^i)' \cdots (v_p^i)' \notin \mathcal{A}_p(G \times I_1),$$

we have that

$$d_m(\sigma_{m-1}^i) = d_m(\sigma_m^i)$$

and the coefficient of $d_i(\sigma_m^i)$ in $\partial^w(\sigma^i \times I_1)$ is

$$(-1)^{p-(m-1)} (w(v_{m-1}^{i}))^{-1} (-1)^{m} w(v_{m-1}^{i}) + (-1)^{p-m} (w(v_{m}^{i}))^{-1} (-1)^{m} w(v_{m}^{i}) = 0.$$

CASE 2. j = m + 1. If m = p, then

$$\begin{split} \sigma_p^i &= v_0^i \cdots v_p^i (v_p^i)', \\ d_j(\sigma_p^i) &= v_0^i \cdots v_p^i \in \mathcal{A}_p(G \times I_1); \end{split}$$

If m < p, then for each

$$d_j(\sigma_m^i) = v_0^i \cdots v_m^i(v_{m+1}^i)' \cdots (v_p^i)' \notin \mathcal{A}_p(G \times I_1),$$

we have that

$$d_{m+1}(\sigma_{m+1}^{i}) = d_{m+1}(\sigma_{m}^{i})$$

and the coefficient of $d_j(\sigma_m^i)$ in $\partial^w(\sigma^i \times I_1)$ is

$$(-1)^{p-(m+1)} (w(v_{m+1}^{i}))^{-1} (-1)^{m+1} w(v_{m+1}^{i}) + (-1)^{p-m} (w(v_{m}^{i}))^{-1} (-1)^{m+1} w(v_{m}^{i}) = 0$$

AIMS Mathematics

CASE 3. j < m. The coefficient of $d_j(\sigma^i)$ in $\partial^w u$ is

$$\sum_{\{(k,l)|d_l(\sigma^k)=d_j(\sigma^i)\}} a^k (-1)^l w(v_l^k) = 0.$$

On the other hand, the coefficient of $d_j(\sigma_m^i)$ in $\partial^w(x \times I_1)$ is

$$\begin{split} &\sum_{\{(k,l,r)|d_l(\sigma_r^k)=d_j(\sigma_m^i)\}} a^k (-1)^{p-r} (-1)^l (w(v_r^k))^{-1} w(v_l^k) \\ &= \sum_{\{(k,l)|d_l(\sigma_m^k)=d_j(\sigma_m^i)\}} a^k (-1)^{p-m} (-1)^l (w(v_m^k))^{-1} w(v_l^k) \\ &= (w(v_m^i))^{-1} \sum_{\{(k,l)|d_l(\sigma_m^k)=d_j(\sigma_m^i)\}} a^k (-1)^{p-m} (-1)^l w(v_l^k) \\ &= (-1)^{p-m} (w(v_m^i))^{-1} \sum_{\{(k,l)|d_l(\sigma_k)=d_j(\sigma_i)\}} a^k (-1)^l w(v_l^k). \end{split}$$

Hence,

$$d_j(\sigma_m^i) \notin \mathcal{A}_p(G \times I_1) \Leftrightarrow d_j(\sigma^i) \notin \mathcal{A}_p(G) \text{ for } j < m$$

Since $x \in \Omega_p^w(G)$ and $\partial^w x \in \mathcal{R}_{p-1}^w(G)$, it follows that if $d_j(\sigma_m^i) \notin \mathcal{R}_p(G \times I_1)$, its coefficient in $\partial^w(x \times I_1)$ is zero.

CASE 4. j > m + 1. Similar to the analysis in Case 3, we have that

$$d_j(\sigma_m^i) \notin \mathcal{A}_p(G \times I_1) \Leftrightarrow d_{j-1}(\sigma^i) \notin \mathcal{A}_p(G),$$

Then for $d_j(\sigma_m^i) \notin \mathcal{A}_p(G \times I_1)$, $d_{j-1}(\sigma^i) \notin \mathcal{A}_p(G)$. Since $x \in \Omega_p^w(G)$ and $\partial^w x \in \mathcal{A}_{p-1}^w(G)$, the coefficient of $d_{j-1}(\sigma^i)$ in $\partial^w x$ is

$$\sum_{\{(k,l)|d_{l-1}(\sigma^k)=d_{j-1}(\sigma^i)\}}a^k(-1)^{l-1}w(v_{l-1}^k)=0.$$

Hence, the coefficient of $d_j(\sigma_m^i)$ in $\partial^w(x \times I_1)$ is

$$\sum_{\{(k,l,r)|d_{l}(\sigma_{r}^{k})=d_{j}(\sigma_{m}^{i})\}} a^{k}(-1)^{p-r}(-1)^{l}(w(v_{r}^{k}))^{-1}w(v_{l-1}^{k})$$

$$= (w(v_{m}^{i}))^{-1} \sum_{\{(k,l)|d_{l}(\sigma_{m}^{k})=d_{j}(\sigma_{m}^{i})\}} a^{k}(-1)^{p-m}(-1)^{l}w(v_{l-1}^{k})$$

$$= (-1)^{p-m}(w(v_{m}^{(i)}))^{-1} \sum_{\{(k,l)|d_{l-1}(\sigma^{k})=d_{j-1}(\sigma^{i})\}} a^{k}(-1)^{l}w(v_{l-1}^{k})$$

$$= 0,$$

Combing Case 1-Case 4, we have that for any $x \in \Omega_p^w(G)$, $\partial^w(x \times I_1) \in \mathcal{A}_p(G \times I_1)$. Therefore, $x \times I_1 \in \Omega_{p+1}^w(G \times I_1)$.

AIMS Mathematics

Remark 3.1. In Case 3 of the proof of Proposition 3.1, since $d_l(\sigma_r^k) = d_j(\sigma_m^i)$, it follows that r = m and $(w(v_m^i))^{-1} = (w(v_m^k))^{-1}$.

Secondly, by Proposition 3.1, we have that

Proposition 3.2. (Weighted Product Rule)

$$\partial^{w}(x \times I_{1}) = (\partial^{w}x) \times I_{1} + (-1)^{p}(x \times \partial I_{1})$$
(3.1)

where $x \in \Omega_p^w(G)$.

Proof. By Proposition 3.1, we have that $x \times I_1 \in \Omega_{p+1}^w(G \times I_1)$. By (2.1), it is sufficient to consider the following cases.

Case 1. 0 < m < p.

SUBCASE 1.1. $m \ge 1$ and j < m. Then for each

$$d_j(\sigma_m^i) = v_0^i \cdots \widehat{v_j^i} \cdots v_m^i (v_m^i)' \cdots (v_p^i)' \in \mathcal{A}_p(G \times I_1),$$

the coefficient of $d_j(\sigma_m^i)$ in $\partial^w(\sigma^i \times I_1)$ is

$$(-1)^{p-m}(w(v_m^i))^{-1}(-1)^j w(v_j^i)a^i$$

On the other hand, since $d_j(\sigma^i) = v_0^i \cdots v_{j-1}^i \widehat{v_j^i} v_{j+1}^i \cdots v_p^i$, the coefficient of $d_j(\sigma_m^i)$ in $\partial^w \sigma^i \times I_1$ is

$$(-1)^{j}w(v_{j}^{i})(-1)^{(p-1)-(m-1)}(w(v_{m}^{i}))^{-1}a^{i} = (-1)^{p-m}(w(v_{m}^{i}))^{-1}(-1)^{j}w(v_{j}^{i})a^{i}.$$

SUBCASE 1.2. j > m + 1 and m < p. Then for any

$$d_j(\sigma_m^i) = v_0^i \cdots v_m^i(v_m^i)' \cdots (\widehat{v_{j-1}^i})' \cdots (v_p^i)' \in \mathcal{A}_p(G \times I_1),$$

the coefficient of $d_i(\sigma_m^i)$ on the left side of (3.1) is

$$(-1)^{p-m}(w(v_m^i))^{-1}(-1)^j w(v_{j-1}^i)$$

while its coefficient on the right side of (3.1) is

$$(-1)^{j-1}w(v_{j-1}^{i})(-1)^{p-1-m}(w(v_{m}^{i}))^{-1} = (-1)^{p-m}(w(v_{m}^{i}))^{-1}(-1)^{j}w(v_{j-1}^{i}).$$

SUBCASE 1.3. j = m and 0 < m < p. Then

$$d_{j}(\sigma_{m}^{i}) = (-1)^{j} w(v_{m}^{i})(-1)^{p-m} (w(v_{m}^{i}))^{-1} v_{0}^{i} \cdots v_{m-1}^{i} \widehat{v_{m}^{i}}(v_{m}^{i})' \cdots (v_{p}^{i})',$$

$$d_{j}(\sigma_{m-1}^{i}) = (-1)^{j} w(v_{m-1}^{i})(-1)^{p-(m-1)} (w(v_{m-1}^{i}))^{-1} v_{0}^{i} \cdots v_{m-1}^{i} (\widehat{v_{m-1}^{i}})' (v_{m}^{i})' \cdots (v_{p}^{i})'.$$

Hence, $d_j(\sigma_m^i)$ can be cancelled out in $\partial^w(x \times I_1)$.

SUBCASE 1.4. j = m + 1 and 0 < m < p. Then

$$d_{j}(\sigma_{m}^{i}) = (-1)^{j} w(v_{m}^{i})(-1)^{p-m} (w(v_{m}^{i}))^{-1} v_{0}^{i} \cdots v_{m}^{i} (\widehat{v_{m}^{i}})^{\prime} (v_{m+1}^{i})^{\prime} \cdots (v_{p}^{i})^{\prime},$$

$$d_{j}(\sigma_{m+1}^{i}) = (-1)^{j} w(v_{m+1}^{i})(-1)^{p-(m+1)} (w_{m+1}^{i})^{-1} v_{0}^{i} \cdots v_{m}^{i} (\widehat{v_{m+1}^{i}}) (v_{m+1}^{i})^{\prime} \cdots (v_{p}^{i})^{\prime}.$$

AIMS Mathematics

Hence, $d_j(\sigma_m^i)$ can be cancelled out in $\partial^w(x \times I_1)$. CASE 2. m = 0.

SUBCASE 2.1. j = 0. Then the coefficient of $d_0(\sigma_0^i) = (\sigma^i)' = (v_0^i)' \cdots (v_p^i)'$ in $\partial^w(\sigma^i \times I_1)$ is

$$(-1)^{p-0}(w(v_0^i))^{-1}w(v_0^i)(-1)^0 = (-1)^p$$

which consistents with the coefficient of $(\sigma^i)'$ in $(-1)^p(\sigma_i \times \partial I_1)$.

SUBCASE 2.2. j = 1. Then

$$d_{j}(\sigma_{0}^{i}) = (-1)^{1} w(v_{0}^{i})(-1)^{p-0} (w(v_{0}^{i}))^{-1} v_{0}^{i} (v_{0}^{i})' (v_{1}^{i})' \cdots (v_{p}^{i})'$$

$$d_{j}(\sigma_{1}^{i}) = (-1)^{1} w(v_{1}^{i})(-1)^{p-1} (w(v_{1}^{i}))^{-1} v_{0}^{i} \widehat{v_{1}^{i}} (v_{1}^{i})' \cdots (v_{p}^{i})'$$

which implies that $d_1(\sigma_0^i)$ is cancalled out in $\partial^w(x \times I_1)$.

SUBCASE 2.3. j > 1. Then for any

$$d_j(\sigma_0^i) = v_0^i(v_0^i)' \cdots (\widehat{v_{j-1}^i})' \cdots (v_p^i)' \in \mathcal{A}_p(G \times I_1),$$

its coefficients in $\partial^w(\sigma^i \times I_1)$ and $\partial^w\sigma^i \times I_1$ are

$$(-1)^{p-0}(w(v_0^i))^{-1}(-1)^j w(v_{j-1}^i)$$

and

$$(-1)^{p-1-0}(w(v_0^i))^{-1}(-1)^{j-1}w(v_{j-1}^i)$$

respectively. Hence, they are the same.

For any

$$d_j(\sigma_0^i) = v_0^i(v_0^i)' \cdots (\widehat{v_{j-1}^i})' \cdots (v_p^i)' \notin \mathcal{A}_p(G \times I_1),$$

by the proof of Proposition 3.1, it must be cancelled out in $\partial^{w}(x \times I_1)$.

CASE 3. m = p. SUBCASE 3.1. j = p + 1. Then the coefficient of $d_{p+1}(\sigma_p^i) = \sigma^i = v_0^i \cdots v_p^i$ in $\partial^w(\sigma^i \times I_1)$ is

$$(-1)^{p-p}(w(v_p^i))^{-1}w(v_p^i)(-1)^{p+1} = (-1)^{p+1}$$

which consistents with the coefficient of σ^i in $(-1)^p (\sigma^i \times \partial I_1)$.

SUBCASE 3.2. j = p. Then

$$d_{j}(\sigma_{p}^{i}) = (-1)^{p} w(v_{p}^{i})(-1)^{p-p} (w(v_{p}^{i}))^{-1} v_{0}^{i} \cdots v_{p-1}^{i} \widehat{(v_{p}^{i})}(v_{p}^{i})'$$

$$d_{j}(\sigma_{p-1}^{i}) = (-1)^{p} w(v_{p-1}^{i})(-1)^{p-(p-1)} (w(v_{p-1}^{i}))^{-1} v_{0}^{i} \cdots v_{p-1}^{i} \widehat{(v_{p-1}^{i})}' (v_{p}^{i})'$$

which implies that $d_p(\sigma_p^i)$ is cancalled out in $\partial^w(x \times I_1)$.

AIMS Mathematics

SUBCASE 3.3. j < p. Then for any

$$d_j(\sigma_p^i) = v_0^i \cdots \widehat{v_j^i} \cdots v_p^i (v_p^i)' \in \mathcal{A}_p(G \times I_1),$$

its coefficients in $\partial^w(\sigma^i \times I_1)$ and $\partial^w\sigma^i \times I_1$ are

$$(-1)^{p-p}(w(v_p^i))^{-1}(-1)^j w(v_j^i)$$

and

$$(-1)^{j}w(v_{j}^{i})(-1)^{(p-1)-(p-1)}(w(v_{p}^{i}))^{-1}$$

respectively. Obviously, they are the same.

For any

$$d_j(\sigma_p^i) = v_0^i \cdots \widehat{v_j^i} \cdots v_p^i (v_p^i)' \notin \mathcal{A}_p(G \times I_1),$$

by the proof of Proposition 3.1, it must be cancelled out in $\partial^{w}(x \times I_1)$.

Summarizing Case 1 to Case 3, the proposition follows.

Finally, by Proposition 3.2, we can prove the main theorem of this paper.

Theorem 3.1. Let (G, w)(G', w') be two vertex weighted digraphs. Let $f, g : G \to G'$ be two weighted homotopic morphisms between G and G'. Then they can induce identical homomorphisms of weighted homology groups of G and G'. More precisely, the following maps

$$(f_*)_p: H_p(G,w) \to H_p(G',w') \qquad (g_*)_p: H_p(G,w) \to H_p(G',w').$$

are identical for each $p \ge 0$.

Proof. Suppose f and g are one-step weighted homotopic. Let F be a homotopy between f and g. Denote the morphisms of chain complexes induced by f and g as f_{\sharp} and g_{\sharp} , respectively. Let $F_{\sharp} : \Omega_*(G \times I_1) \to \Omega_*(G')$ be the morphism induced by F (cf. [7, Theorem 3.3]). By [11], it is sufficient to construct a chain homotopy between the chain complexes $\Omega^w_*(G)$ and $\Omega^{w'}_*(G')$, that is, an \mathbb{F} -linear mapping

$$L_p: \Omega_p^w(G) \to \Omega_{p+1}^w(G')$$

such that

$$\partial^w L_p + L_{p-1} \partial^w = g_\sharp - f_\sharp$$

Define L_p as follows

$$L_p(x) = F_{\sharp}((-1)^p x \times I_1),$$

AIMS Mathematics

where $x = \sum_{i=1}^{n} a^{i} \sigma^{i} \in \Omega_{p}^{w}(G)$ and $x \times I_{1} \in \Omega_{p+1}^{w}(G \times I_{1})$. By the product rule in Proposition 3.2 and $\partial^{w} F_{\sharp} = F_{\sharp} \partial^{w}$ in [7, Theorem 2.10], we obtain that

$$\begin{aligned} (\partial^{w}L_{p} + L_{p-1}\partial^{w})(x) &= \partial^{w}F_{\sharp}((-1)^{p}x \times I_{1}) + F_{\sharp}((-1)^{p-1}\partial^{w}x \times I_{1}) \\ &= F_{\sharp}((-1)^{p}\partial^{w}(x \times I_{1}) + (-1)^{p-1}\partial^{w}x \times I_{1}) \\ &= F_{\sharp}((-1)^{p}(\partial^{w}x \times I_{1} + (-1)^{p}x \times \partial I_{1}) + (-1)^{p-1}\partial^{w}x \times I_{1}) \\ &= F_{\sharp}(x \times \{1\} - x \times \{0\}) \\ &= F_{\sharp}(\sum_{i=1}^{n} a^{i}(\sigma^{i})' - \sum_{i=1}^{n} a^{i}\sigma^{i}) \\ &= \sum_{i=1}^{n} a^{i}g(\sigma^{i}) - \sum_{i=1}^{n} a^{i}f(\sigma^{i}) \\ &= g_{\sharp}(x) - f_{\sharp}(x). \end{aligned}$$
(3.2)

Moreover, by the induction on the homotopic step of f and g, the theorem is proved.

 \Box

At last, we give an example to illustrate the main theorem above.

Example 3.1. Let G be a digraph with the vertex set $V(G) = \{v_0, v_1, v_2\}$ and the directed edge set $E(G) = \{v_0v_1, v_0v_2, v_1v_2\}$. Let G' be a digraph with the vertex set $V(G') = \{w_0, w_2\}$ and the directed edge set $E(G') = \{w_0w_2\}$. Let w, w' be the non-vanished weighted functions on G and G', respectively. Suppose f, g_1 are two weighted digraph maps from G to G' such that $f(v_0) = f(v_1) = w_0$, $f(v_2) = w_2$ and $g_1(v_0) = w_0$, $g_1(v_1) = g_1(v_2) = w_2$. Then w, w' can induce a weighted function $w_{G \times I_1}$ on $G \times I_1$ and there exists a weighted digraph map $F : G \times I_1 \longrightarrow G'$ such that

$$F |_{G \times 0} = f$$

$$F |_{G \times 1} = g_1$$

$$F(w(v_i, 0)) = w'(f(v_i))$$

$$F(w(v_i, 1)) = w'(g_1(v_i)).$$

Specifically, for $\sigma = v_0 v_1 v_2 \in \Omega(G)$, we have that

$$\sigma \times I_1 = (w(v_0))^{-1} v_0 v'_0 v'_1 v'_2 - (w(v_1))^{-1} v_0 v_1 v'_1 v'_2 + (w(v_2))^{-1} v_0 v_1 v_2 v'_2$$

$$F(\sigma \times I_1) = ((w(v_0))^{-1} - (w(v_1))^{-1} + (w(v_2))^{-1}) w_0 w_2.$$

Moreover, let $g_2 : G \longrightarrow G'$ such that $g_2(v_0) = g_2(v_1) = g_2(v_2) = w_2$. Then f and g_2 are two-step weighted homotopic.

AIMS Mathematics



Figure 1. Example 3.1.

Acknowledgment

The author would like to express deep gratitude to the reviewer(s) for their careful reading, valuable comments, and helpful suggestions.

The author was supported by Science and Technology Project of Hebei Education Department (No.ZD2022168), Projects of Cangzhou Normal University (No.xnjjl1902; No.XNJJLYB2021006) and the research and innovation team of Cangzhou Normal University.

Conflict of interest

All authors declare no conflicts of interest in this paper.

References

- 1. A. Grigor'yan, Y. Lin, Y. Muranov, S. T. Yau, *Homologies of path complexes and digraphs*, Preprint arXiv: 1207. 2834v4, 2013.
- 2. A. Grigor'yan, Y. Lin, Y. Muranov, S. T. Yau, Cohomology of digraphs and (undirected) graphs, *Asian J. Math.*, **19** (2015), 887–932. https://doi.org/10.4310/AJM.2015.v19.n5.a5
- 3. A. Grigor'yan, Y. Lin, Y. Muranov, S. T. Yau, Path complexes and their homologies, *Journal of Mathematical Sciences*, **248** (2020), 564–599. https://doi.org/10.1007/s10958-020-04897-9
- 4. A. Grigor'yan, Y. Muranov, S. T. Yau, Homologies of digraphs and Künneth formulas, *Commun. Anal. Geom.*, **25** (2017), 969–1018. https://doi.org/10.4310/CAG.2017.v25.n5.a4
- 5. A. Grigor'yan, Y. Muranov, V. Vershinin, S. T. Yau, Path homology theory of multigraphs and quivers, *Forum Math.*, **30** (2018), 1319–1337. https://doi.org/10.1515/forum-2018-0015
- 6. A. Grigor'yan, R. Jimenez, Y. Muranov, S. T. Yau, Homology of path complexes and hypergraphs, *Topol. Appl.*, **267** (2019), 106877. https://doi.org/10.1016/j.topol.2019.106877
- 7. A. Grigor'yan, Y. Lin, Y. Muranov, S. T. Yau, Homotopy theory for digraphs, *Pure Appl. Math. Q.*, **10** (2014), 619–674. https://doi.org/10.4310/PAMQ.2014.v10.n4.a2

- 8. A. Grigor'yan, R. Jimenez, Y. Muranov, Fundamental groupoids of digraphs and graphs, *Czech. Math. J.*, **68** (2018), 35–65. https://doi.org/10.21136/CMJ.2018.0683-15
- 9. Ch. Wang, S.-Q. Ren, Y. Lin, Persistent Homology of Vertex-Weighted Digraphs, *Adv. Math.* (CHINA), **49** (2020), 737–755.
- 10. S. Bressan, J. Li, S. Ren, J. Wu, The embedded homology of hypergraphs and applications, *Asian J. Math.*, **23** (2019), 479–500. https://doi.org/10.4310/AJM.2019.v23.n3.a6
- 11. S. MacLane, *Homology*, Die Grundlehren der mathematischen Wissenschaften. Bd. 114. Berlin-Göttingen-Heidelberg: Springer-Verlag, 1963.



 \bigcirc 2023 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0)